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Section - A (Language Conventions)

Note : This section of the question PaPer contains 24 questions

required to attemPt all the 24 questions.

(Questions 1 to 8) : Read the following passage carefully

from each list according to the corresponding number in

1. On February 14th, couples around the world celebrate

2. Valentine's Day. Tiaditionally. the day comemoraits

3. the death of Saint Valentine, who was ordered

4. to be put to death many centuries ago'

5. Legend has it that the Emperor at the time

6. banned young men from marrying so that they

7. would perform better as soldiers in his army'

8. St Valentine defied this law and secretly continued

9. to marry couples. Today the day is a chance for

10. people to declare their love; most often by exchanging

11. gifts or caring words.

1. Which of these options is closest in meaning to'perform better' as used in line 7?

1) achieve more
2) develoP better
3) work together
4) obey more often

2. which of these options is closest in meaning to'declare' as used in line 10?

1) state
2) share
3) expose
4) broadcast

3. which of these options is closest in meaning to'defied' as used in line 8?

L) ignored
2) resisted
3) disobeyed
4) challenged

4. which of these options is closest in meaning to'traditionally' as used in line 2?

1) actuallY
2) most often
3) previously
4) historically

5. Which of these options is closest in meaning to 'celebrate' as used in line 1?

L) honour
2) have fun on
3) have a holidaY on
4) praise the origins of

til|illMffiilllllllllll

in the English Language. A student is

and select the most suitable option

the passage.

Q30
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5. Which of these options is closest in meaning to'ordered' as used in line 3?

L) told
2) directed
3) required
4) arranged

7. Which word is the correct spelling of the word'comemoraits'?
1) comemorates
2) commemorats
3) commemorates
4) comemmorates

8. Which of the following is the opposite in meaning to the word'banned' as it is used in line 6 above ?

1) allowed
2) tolerated
3) reassured
4) persuaded

(Questions g - l2): Complete this passage by selecting the most suitable word/phrase from each

list to fill the corresponding gap.

For years researchers have -9- about why zebras have stripes. Reasons for the unusual pattem of black

and white stripes have included confusing predators, camouflaging in grasslands, and allowing zebras to

_10_ each other in their herds. But no one has tested these hypotheses. It now seems that a new study has

found the answer. Zebra stripes disrupt light pattems that tsetse flies and horseflies use to find food and

water. These insects are _11_ pests that feed on the blood of animals, -l) lead to the transmission of

serious ilhnesses.

9. Whith of these fits gap L0?
1) meet
2) witness
3) recognise
4) aclrrowledge

10- Which of these fits gap L1.?
1) shameful
2) notorious
3) considerate
4) scandalous

11- Which of these frts gap L2?
1) that can
2) md tt€y
3) whirtr cart
4) ilre whidr

12. Whitrof ft€sefits gap9?
1) realised
2) guessed
3) considered
 ) speculated

Q30 - 7 -
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(Questions 1,3 -1,6) : Complete this passage by selecting the most suitable word from each list to
fill the corresponding gap.

At the break of dawn the chatter of birds was replaced -L3- an eerie silence. The temperature dropped and
the moon -14- the sun, creating an image of an invisible dragon devouring the Sun. A shadow was cast that
was so large that it -15- the land into darkness. Without waming a commotion of drummers drumming
and archers shooting -1.6-arrows into the sky began. The dragon was frightened away and daylight was
restored.

13. \A/hich of these hts gap 1.4?
1) overcast
2) obscured
3) overtakes
4) overexposed

L4. \A/hich of these fits gap 15?
L) divided
2) plunged
3) lowered
4) collapsed

15. \Atrhich of these hts gap L6?
1) my
2) our
3) your
4) their

16. \ /hich of these fits gap 13?-  
L ) i n
2) by
3) after
4) despite

(Questions 77 - 20) : Complete this passage by selecting the most suitable word/phrase from
each list to fil l the corresponding gap.

My friend is someone -17-loves animals. She say+ "I want to make up _18_the mistreatnsrt of animals
that we humans are involved in. " _19_her, "The reason environmental activists sail ftefu surall boats
around the large whaling ships is 20_they want people to know about the wrongful kiltiry of whales."

17. Which of these fits gap L8?
L) by
2) for
3) through
4) because of

L8. Which of these hts gap 19?
1) Instead of
2) In view of
3) Apart from
4) According to

Q 3 o  - 8 -
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19. Which of these fits gaP20?

1) that

2) since

3) when

4) so that

20. Which of these hts gaP 17?

1) that

2) who

3) which

4) whom

(Questions 2l- 24): Read the passage and select the correct form of the missing wotd/phrase

to complete it.

Theraqcdidehadcausedsignificantdisruptiontotraffic21-theroadthroughthemountains.Someofthe

drivers affected by this event had unsuccessfully attempted to move aside one of the huge rocks' 22-

members of the emergency team arrive d, 2g-managed to get the road cleared quickly using heavy

machinery. The chief engineer told the drivers,'Even if you ]4_harder this large rock would have been

impossible to move without special equipment''

2L. Which of these frIs gaP22?

1) As

2) Once

3) Before

4) Although

22. Whichof these htsgaP23?

1) who

2) they

3) these

4) which

23- lllhi:hof these fits gaP24?

1) can trY
' 

D ffitld trY

3) had tried

:' !) harc tried

2rL fThkhof ftesefits gaP2l?

;ffi
3) acrrc

a) m@of

Q30
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q,f' - d (gurr.Tfi T*)/Section - B (Qualitative Reasoning)

gT{ 25 * azlQuestions 25 to 42 
:

zs. grrd.R sT{ + srftffin *.{et fr vqt trq} * qef i rttmi t
'4fitrEelvetqwlqlRcr' t
sqffi gan\qr srqi ffifua fr i fus fr 3TF qft +dr t ?

r) s*riff+lneg;smtftn t
2) ssl qfiRrft qsr rss ute frqr t
3) ssiff*qrqf caT*}gcrft{a.ttrrfr+t t
4) sql Ts{t fr uqr$ qt qci ftt ftqt t

Idioms are expressions that convey a deeper meaning that goes beyond what is presented.

'Ife let the cat out of the bag.

Which of these illustrates the idiom above?

1.) He told people everything.

2) He accidentally revealed a secret. q

3) He let the animal slip from his grasp.

4) He released the animal from captivity.

26. "srrqfrl ffirq€} fti€ ft q qffdFr cFrr s{rq ers {a i ?" 3Tq snc aE{€ s[qi 3Tr$-stc t ftq'2p 6*'a te'
r qmsrh€t{orqtgHF+cor{6tifr ierur+grfuci tEAsqq},IiF{Tr srnilqi *tqc eTrqhTq}frgwr

srvdaqwrcfts.rt I

Bqi{f,fr{rq{ + fuq * g sftrryndi dr s{c{ffi{q|{6 h6rfri.i'.{nrt, t sTct€ ff'ri i ?
1) F\i sq?iFr+rtr edrqn i r
2) s{q} T+ fi gwr oI t
3) +e gHfrd*tftng{|fdt t
+y avnlt pr*qq€ r

"Are you tired of not knowing where your teenager is ? Now )rtru can be zure they are safe all the time !

Simply buy the Teen Incator app for your iphone - it's easy to use and the cheapest way to protect your

ddld!".

Which words in the advertisement above are designed to appeal to parents who are frustrated with

the actions of their teenage child ?

1) 'it's easy to use'

2) 'protect your child'

3) 'be sure they are safe'

4) 'tired of not knowing'

Q3o -10-
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22. trrqdretfril*qrffig,*urqrraarttsft{etqlq{6nq.{tt ? eraqctqdrqqrifrFFstEr€trrt

s tr * r+rs s srs ae t r ?ei q{, 3ft{ i'il t trq dt qt frit fr qin €[q vftfiqr ffi itfr t r ftqr{{t

qr qff{r t ft fi,it fr qq-g *r 3r${ft qr t'it ql er15q qsdr t t

sslq 6T t i'il n d6iRrc lTrq {s Ys'n t :

fi{r - ftgqrg, dsrc{, sErS

6{r - {gfra, {Iid, il-qtfr

ffi -tEe,gkr-ar,3fuc

fidr - q{ft,'dfr{ft, m(

€lc,r -trf,cetgm, qe

ffifu-r cFI qr sm ?i t frq3c{ft EfiT 61 3q*rr di I

colorrs are believed to influence how we think, feel and behave. studies have shown that people

associate certain colours with emotions. When viewed, and being surrounded by a colour' often causes

a reaction in people. Designers consider the impact that a colour may have on peoplels understandings

and feelings.

Commonly recognised colour associations include:

Blue - trust, cold, sadness

Green - balance, calm, freshness

Pulple - leadership wisdom, intuition

Yellow - haPPiness, warmth, fun

Red - heat, energy, aPPetite

use the above information to answer the following question :

furffitr€{+frqGrs'i'r*rg4q g{ftm3qgffiArn ? 
:

1) *ffSrere

2) il *rere 
'i

3) E{ *{fimr

4) {dr${*{r

Fcr a arrti$ullying poster, the most likely colour choice would be :

f) blne and red

2) gt€cnandrcd

3) greenandblue

4) Fllffi andblue

Q30
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zs. ffifud t+eit e1 W qffi ii rqr qr v*-cr t I Ect t ffi R eIF + {ftSs t sq il ygm frqr qr v*-or t ?

tl trott+w
21 qaqErffi

3) w*1ird6fs

+l ffienfu6faqrq

All of the options below could be grouped together. Which one of them could be used as a title for the

entire group?
L) solar panels
2) wind turbines

3) power technologies

4) geothermal heat pumps

zq. ffifud {r<l + dq t ridq o1 qqgt :
ffir:qEr;TI

vdt * frs rrq-gu it u+n {aiei sTfirqrd S3Tr t z
L) {l-$fi : tfiI{

2)  9FT:3<R

3) {a<}z '',*qe{
4) fd{rs : {friw{

Consider the relationship between the following words:

encycl opaedia : information

. \A/hich of these word pairs expresses this same relationship?

1) road:  car

2) question : answer

3) internet : computer

4) comedian : entertainment

30. {*qrq fr {.dt €t gtR tq'nq eiFmifuitt F€fi fi ci{srqq q-G * fu 3{is sqrs frqi t
ffifud + A d"-ffi {.Tffi sq fiqq fr qqtt fi riwr q.q qri if €-{+ eTPffi sflTfr +fr ?

1) {6itt *fi qs+frwit qfrelq-tqr t
zy rarin<t qTd gq fi qqfr{ s.r fi-{rcr "FGfi |
3) rr€fr + eld qrd +fi fi {rq|qfts frFT n qrFr$ s-t{r t
4) g'Lt rTffi fi frfu-€T + fu 3TRr* frF ffir gh.,Tq lEH *-GTT I

A recent increase in cases of Dengue fever has led authorities to introduce a nu.rrber of measures designed

to reduce mosquito numbers.

\A/hich of these strategies would be most successful in reducing mosquito numbers this season?

L) Conducting research into mosquito life cycles.

2) Advertising fog machines which kill mosquitoes.

3) Chemically treating areas hosting mosquito larvae.

4) Providing more medical supplies to treat dengue patients.

Q30 -L2-
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sv;T (31-36) : ffifua srfr+q 61 cQq nen frq {q s{d} * Ytn *Fqq t

euestions (31 - 36) : Read the following passage and answel the questions that follow:

*vrd{ ffihtr/ social Networking

c)-€dSr4;t*x*qrqqtstt{g1Eqdrr€ffirrrqitr**sift t rfrrqtfiifqi-std}'rsTCft=it+qlerdq$ii{6t
nedr frM qei slzlfi's smr E{t $i qfiIsii q.r irTfdr{-vEFT 6i} + frq ffi'r s'r e*rr fi G t | fr3 sfr qnr {s

ffir qr w d{€ nq\,Tq'{tt fr e{|r"}ct$T q}fuc * sft qFrsq *iTqTRq I

dql€ ffir qs tS d-$ i fus it qrq* iqr fr ffi silqa 3iqftfud dt t r gsi W srs tor fi q}fuq S i t qs
qR 4ti frr, frH qr ffi 3iirflF{ fur d qrq fr {6 3irfr rrdq n X fr qrm t, +itfu qa qei q-dr i sA 3nc ffid

a-fi+rv+ti tF€FF1 e1el{6tfr enc e{q-fiqftrrrdq*{rEw .,foit*qrQr{It-slq{Giffi enqqrqtTsi *{q}

frsrg creTfri t

fr1q ffir qr xipr st{t qqq *fuq dr w crt } ftq ga wn ?t fr,u R, .mt qR'rd tdd{ur +1 ffi s-{q {qfl ,
frRq, iftr, eqdft'r qr srs+dG'r A wA unurffe uturr npn vrE*S tftl *t vfrrr 6l+r crft ervXpu d'it *1
eflTff qfir (s cfqf t ftnr qr s* t

On-line social networking via mobile phones and computers is a global revolution. Around a billion people

vgorldwide use networking to stay in touch with friends, to share videos and photographs and to exchange

information. But, if you are using networking in this way, you should be aware of the risks that exist.

Social networking is such that most of the extensive numbers of users are unknown to you. This carries a

degree of risk. Once a message, video or photo has been shared online, it is out of your hands because you can't

crrtrol where it goes. This means that you may be sharing your personal information with people you do not

lqrort- and who may not be trustworthf.

jme rital points to consider in order to reduce risks when using social networking include: keeping personal

detaits private, thinking carefully before posting, chatting, uploading or downloading and using privacy

SinSs to restrict strangers accessing your information.

3L dt*
1) 3nsfr frr€i + fre !-fr{r {S an qtFiII : )
2) elsd €{H c{ snss Fntt r 3{rv g{d i cS t qro *fr t
3) qd + qrer e-{frqi T{r} vr {6r tl qs E* i tft{'n t
{) €wtidit qc}Fqt srd*{ahqreri;hfrcgarwft+r :)

Which of these online messages might lead to a social networking user being in a physically dangerous

situation?

1) C-an't n'ait to see you :)

2) See vou at Badli station' 9 am today. Red hat.

3) Going on holiday with Aunt. Back in a week.

4) So much fun with best friend at caf6 on weekend :)
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32. Eqi t frs sQH q,r qni{r eUdE d rikr * sq t ftm qqt i ?

r) ffifi 3ilqrfrrqfrq erPffiRt t

2) ftfr Ssr rd+frqt ffi go fuvmdmt t

sl ff+tr{ficd{€+Att : qrdqfr-d, ftR 3ftrMq t

4) qR qTq*crqo'tt*1gis 3r€rr$Afira*Re t

l{hich of these sayings summarises the message within this passage?

L) Freedom of speech is the noblest right.

2) Privacy is for people with something to hide.

3) People have three lives: public, private and secret.

4) If you haven't got anything nice to say, don't say anything'

gg. {6 qrfli$ "q1q66 {qr d 3qfrr1q6f" {6iRra t

1) cld+lq}sq$ {IrFm 6{ri fr qw t t

2) *flRffirr1Mi -q-6verttr

3) T6 frluri n fr qtifu T{r} + ega emwt r

4) Fs g$q * fr sTRrs {sr * o.nur rstr fi dHT{I qa qrfr t r

The text refers to "the extensive numbers of users" in order to

_ 
L) persuade readers to join in.

2) indicate social networking is world wide.

3) show there are lots of opportunities to make friends.

4) suggest that large numbers increase the chance of danger.

34. *{Fr ffirr +1 "sift" tn-6T EndI t, qsilfr T6

1) g*qt-€Wiqnsdqt r

2) g* {rqfilts sTi+dq t r

3) frrqfrqrit 3trq{rdrt t

a) v+reil{mztqr*Te,

Social networking is called a "revolution" because it

1) is a significant change.

2) is a political movement.

3) revolves around the globe.

4) causes conflict actoes societY.
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35. fr-s 3il{qFr qR srn srTrsl qRrd {fipfi ds cdq+ fi qan ff gc+r fi er u*fi t

ty .rfriiffi gl-rdnqRtoraq-rlt r
2) frr t qrq sr$ + fud{uT {TsT e;d i r
s) 3{i-qnqRs} oTci witgor} t r
+y etit arr 3rqfr rMq em-rfi-d gr ti t r

Having your Personal information accessed by someone unknown can be best compared with

1) talking to strangers in the street.

2) sharing your diary entries with a friend.

3) inviting unknown people into your house.

4) people overhearing your confidential conversations.

36. fr{0 tntr.a q-r €@ rls wr i ?
1) fr{rf, +asffiT dr # 6 3ft* q.nqr i I
2) $s vrqr i v) svq1,6uigl + fi{Td le+S qr r-qt rct t r
3) 5s gtfim qqq tqr d-ar t qq 3Trq-*1 Arrd ffi'r q.1 3qfrr1qq{r qrRq r
4) lro tt d0+ i ffi qfrrd qi-{ret't 6 qrffi q{ ftiilr ftqr qr {fidr i I

The main idea in paragraph three is that there are

1) several good reasons to avoid social nefworking.

2) strangers who spv on the users of social networks.

3) safe times when vou should use social networking.

4) ways to control the sharing of.personal information.

v,Tq G7 -42)' ffift1 eIg$,E d rTfra aen ftq rrq !'gql * vtn ffiq r

Questions (37 - 42) : Read the following passage and answer the questions that follow :

erfrf$/rfre Guest

T6q,€Tfr+{rer{tr*rrrqo^goarfragraqdGt rguEqq{i 'qY'agRfin{rF'+ftqc{g*t 
t$B*nilfr

rTrarin Sfrgo ordfu-*tr.drqge rn{va# efr r
qqEci6crtqHr{5fiilqqdffiiar-*tow*rgsenfirrfiff5*q3TFiEWien riQ*eqy{BrRqrdqrA+d}fi
fi+s{ +f,fis Ecrfr Tr.S + crs snq Sr gu< vrxr fi 6n-+r ort * elE +6H {rrs ffir t qtd, "qK rcjl fu rre dt i
qEdqrss ermrt 1 31RlqFTqrfif,rfrcrottfua3un**if q**wi*tfr.roqcrr$ift effiTs(FFT s{r*ttraT
t t tfr" fi fifrd ifr go h i-fr s.tt t" frr 5-o gq;ffi{ d 3Trt dld, "gq ft vrqt d fr efl-q 4iq-S ra t t"
3Trfr Afr 

"1qt Sq ql6lq t ftfr i ld qor * r
q"I6rTyrfltqr6{fi-{-€rrrqidfiErrrtts0.Tr.Sffi+frqq.-o , "ifr6ngiqm*, eil-qst{-{ft{rfrA ?"
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csi wi t qrd o.d gq -fr-geft vrw fr wt fr+1 ; ''qisgffi 

To" gq* qK sqi 3{q-S qdi fiqffi q} q.dt, g{ci ftflr qr-dr

qifr fi *q efr, qrsqs fii-d-s q-.s r sfrr sq+ 3jr{T ri=di si'fuqis q{ w.R iqr r fic s6 T{*T fdqr fr qe 3l{|q{.rm fuiq

*yftfriqo, ssfir{r*rFrsFf*.dfrfir erT rqsfrqfirr-.diiqd?rrrpr, *q-oy+enrfirrfrqlie-mro rssiffitrfl-sr
qor * cri {6 dt gs qqq +1 Tr s-Fir qr6dr erT I

di cn-qn eTT{r frr 6flr C q 3ii {kgffi Edr *} rlc G t r

This story is being told by a lawye4 lonathan Harker. In this scene, he hears of 'Walpurgis night'. Some people

used to believe that supernatural things happened on this night.

When we started our drive the sun was shining brightly and the air was full of the joyousness of early

summer. just as wewere about to depart, Professor Delbruck came down to the carriage and, after wishing me

a pleasant drive, said to the coachman, Johann, "Remember to be back by nightfall. The sky looks bright but

there is a shiver in the north wind that says there may be a sudden storm. But I am sure you will not be late."

Here he smiled and added, "for you know what night it is."

|ohann, touching his hat, drove off quickly

\A/hen we had cleared the town, I said, after signalling to him to stop : "Tell me, Johann, what is tonight?"

He crossed himself, as he answered laconicallst "Walpurgis night." Then he took out his watch, a great, old-

fashioned silver thing as big as a turnip and iooked at it, with his eyebrows gathered together. I realised that

this was his way of respectfully protesting against the unnecessary delay and so I sank back in the carriage,

merelj' motioning him to proceed. He started off rapidly, as if to make up for lost time.

Every now and then the horses seemed to throw up their heads and sniff the air suspiciously.

37. src{qr.Styernftqr endqfr{qrqt{-aTqqq ?dr ?

1) +{

2) ftq"fiT qrrrl

3) {kT fi {53Tr-d

a) Tu111-6

What time of day was it when the carriage departed?

1) dawn

2) daytime

3) nightfall

4) midnight
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gg. li+s{ tffis *1 qnq srri fr sffiq t, Riih "3dt rqrifi fr +tq*fr S" I s-fi ritr+e: fur qufrq o-o,
q{ilft

1) (6r{ en}*nrqt-dniqaqrcfrdqfrt t

z; eot t-+r:it i s{6 {c fr g{g$ tEr m fr * t

s) s{ft crqdr t ft t-qr fr rtc qtd er.cr( qrn i-qr oi'ft t

+) .icrq{ dqq ffidi or rika ? rsr t r

Professor Delbruck expects a storm because of a "shiver in the north wind." He most likely said this

because

1) winds are erratic when storms approach.

2) the north wind sent a chill down his spine.

3) he believes that spirits in the air will cause storms.

4) coldness is signalling the approach of changing weather.

3e. irq6 t frFd frsT i

1) Er& * qfra *1 t

2) qg6anfrqfiil{q*1t

3) qs srFiEwi'rfrt fu q1 t

4) !tr Ydfr{It qtiilq{ur qi I

The author has developed

1) Harker's character.

2) a tension in the plot.

3) a joyous summer setting.

4) an aturosphere of calmness.

a0. g6a1] sHFIc{f.F tfr i-S fi Afu{ 3st tsr 6-6r rS, *it ?

1) {6 6[4il +} qM{iE tF{iTI eIT I

2) {€fr{ssltff-Ilqrsdr en I

3) {6gd gfifrd ?rT I

4) trtw?rfiqiqilqs er t

The driver resents the unnecessary delay but he does not say so. Why not ?

1) HedislikesHarker.

2) He wants to be polite.

3) He is unsure of himself.

4) He is busy checking the time.
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4r. sqi s{i t vra *G ge +ft -sift rnqr fr sor ftEr,''ftFtr rm" *6n *' wm il wm:

"qfi-gffi rilqt" ql e{eff

1) qr3Tm$qRfrctar

2) qgdq*tr*vrQr t

s1 unratw+du r

+y ertwrt sTfu{{fh< r

I:Ie crossed himsel{, as he answered laconically: .Walpurgis night..

This reply from Johann suggests that "laconically- means

1) like alazy person.

2) with great respect.

3) less nervously than usual.

I 4) more briefly than expected.

42.: S+rR effirs fi {rdO c-.6 ftdr ,fi ft ar4r

1) {TrFrct;rfrT{+n t

2) S {q{ cHr TS sTq[Ern I

3) qtrSerqrEn r

4) tkrFIFfi qrn fr fis qrrq.n t

Plofessor Delbruck is most concerned that Harker will

1) not be punctual.

2) not have a pleasant drive.

3) be threatened by a danger.

4) be caught in a dangerous storm.

Q3o - r8 -
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{rf - S 1q** ilS) /Section - C (Quantitative Reasoning)

gF 43 Tt 5OlQuestions 43 to 50

43. ;ri! ar qR sqr6 ii 3Tqt fu{-} q.r grrflq et{frr i r

eii {*-qn r qrq0 zorg si 3{qil rrE€T grt-dr ful r

srr*lmsn grdmqq?qfrn ?

r ) {*zrn rg qrd zorg

2) {or-dR r er}e zorg

i) {rdn zz sT}d zors

4) {;n,qR r rr$ zor:

lv.;rnu pavs his rent every 4 weeks.

Hr: made his first payment on Friday February 1st 2013.

-\,\Ihen 
is his 3'd payment due?

1) Friday 29th March 2013

2) Friday 1st April2013

3) Friday 27th Apil2073

4) Fridav 1st May 2013

++. lndtedslq-{r-rsr{sfFFrrqtft.tfu+qc*riqmq{frqroftdrqHisfimfrtrot{+qqwqrtrt t
=ith Ei qqr qHil qfi Est 6c t {stdq gs qR fr a a frfffi qqq 6re t t
qtft drilfud qtd + qsrc t cftqrc t : rrs frn, ag fun, sz fr.qr. sg frn, se frn, sz frqr t
ERi if s{q dA 6.s* frRr-qr q.r {s{ sqt erFrs t r
5l*T qq{ fr-fr{r t ?

1) 2e fuqT
2) 30 fdrT
3) 31 frur
q) gz td-fl

Fc,ur smallboys want to know theirweights, but the weighing machine onlyweighs oblectsmore than40 kg.
/.i; each of the boys knows that his weight is less than this, they weigh themselves two at a time.

Tlre results of all possible paired weighings are : 48 kg, 49 kg, 52k9,53 kg, 56 kg and 57 kg,

\fohinda, the tallest of the four boys, weighs the most.

illhat does he weigh ?
1) 29ks
2)  30kg
3) 31 kg
a,) 32 kg
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4s. r{}i eflTfrqT{Rm L,l7l\.tffirn

qe ssfr qts t roY, qq Tq an t

ssi qr{Br sft+ * ftq frffir gqilq ftqr ?

L) 1.,053 d.

2) 1,180 A.

3) 1,287 F.

4) 1,300 F.

Ravi sold his bicycle for71,L70.

This was L0% less than he paid for it.

How much did he pay for the bicycle?

L) t 1,053

2) t 1,180

3) < L,287

4) t 1,300

46. 3rffi 280 frfr Eiqr F*..S $T qs 3wt qftqt t

{6 sfr a 3wi fr qrerr qr6nr t I dt gG fi ff qq gd ff ff 6'I z5 vftRrd*{r qrRq I

d.i3G fidqr$ffi€)'ft ?
1) 7Ofrfr
2) uo rt*
3) 160frfr
4) 210frfr

Arni bought a piece of timber that is 280 cm long.

He wants to cut it into two pieces. The shorter piece needs tobeT\o/" of the length of the longer piece.

How long will the shorter piece be ?

1) 70 cm

2) 120cm

3) 160 cm

4) 210 cm

Q30
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qrq+ efu d6{ fte t r s+ *fr t qs-<* t wt qr} e.r fr'olq frqr t S gz ffi K t r i *ii gm s qq 3{q}-rru} q{

t qrxr * fge m, $t s{fr {qrfud qrxr *1 *i Trq { Rqrqrren i r

Paavan and Lahar are ftierids who have decided to travel to each otherrs cities,32 km apart. They both left

from their own houses at 8 am, and their predicted joumeys are sketched below- '

tqr*ffi*ttkrfrt;ntho*te
Pa$r*ds Journcy {qTffi *}em}

/. 
*-i

: **;-*J
. 1

'*i
'_'t

i
, --l" ,  '
.- -:. j

:*' 1
.*@

-  ' l
..*.*{

Tne(hws)aea {q{rd}*)

{.rt*€d*$*O61**"

hnefu*wlqw txreT*}

az. srqfr qgr + *{r ffifuo it t fu qqq c{ qr+q ea t ftor ?

1) Vdd 1,0:00 - 1030**s

2) g{6 10:30 - 11:00 **s

3) g-dd 12:N -Ac6{ rz:go 6 qrs

4) aq-fl 2:ffi - 2:30 * fiq

At which of following times did Paavan meet Lahar on his journey ?

1) between L0.00 and L0.30 am

2) between 10.30 and L1:00 am

3) between L2.00 and 12.30 pm

4) between 2.00 and 2.30 pm

2
0
I

I
I
1
I
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48. {rrdrfrqrft"qRd{-d 8:45til{r{zr;Wt*frnfr+nfig+e 10:l'5qlscs*drt Irfrqil-&fr retqrA 3{c}

fu q1 fti + qwqsn {frdn fi sdrc 7:00 qq dq 6FTT qr6dT A I

rft*1ffirtqsdrqcqreftq ?

1) {frqR Vtr6 s:30 qQ

2) {iddr{g.{6 7:15 qi

a; rkanvru 5:3otri

+1 frr+ng-tr6 2:ooqQ

At 8:45 pm saturday in Bangalore it is L0:15 am saturday in New York' Ravi wishes to ring his friend

in New York at 7 am Sunday New York time'

When should Ravi ring from Bangalore ?

L) 5:30 am SundaY

2) 7:L5 am SundaY

3) 5:30 Pm SundaY

4) 2:00 am MondaY

ae. ftnstsei + ftq !F zft fr Ergz c-sffi q1 qren "rqr t

ms qBz ql1 qwr q?n 3rt{ F t qrqq t frRa ot s€ qrc€ tfr fr cr€ ftqT IqT I

. (:* €<rE h eK fis q-gfrqi rrfid rri neIT ?16 q-qt rlcr fr 3-{ti t a fi fr {$ frRa t r

tq yqu * slTtm q{, sqr sr{Ern €TIFII EIT {fr-dr t ft ffi i[ gn ffi rroftai t ?

1) 100

2) 300

3) 6,00

4) 7,200

Trout are bred in a tank as fish for restaurants'

Twenty trout are caught and each is tagged through the tail then released back into the tank'

Aweek later, thirty trout are caught and it is found that two of them have a tail tag'

Based on this evidence alone, what estimate can be made of the total number of trout in the tank ?

1) 100

2) 300

3) 600

4) 1.,200

Q3o 
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50. drtfl *t.rm i 15s ffi RtsrQ {r{fuRt{ fr r{r.r frcr i I T6\q zo ffi ff qrd f* qt sil*Rd fr 'r$ S t

ilR{fr efrrcqro 30 ftffi/Eia Qfr{cfrfrqFfi 3frsawa rs ffi7€a efi ,

ts + *{rr nirRt'r'rc * qrst ffi sR gwr ?

L ) 2

2 ) 3

3 ) 4

4 ) 5

Tahir and Gagan rode in a 150 km bicycle race. The race was held on a 20 km track.

Tahir arrcraged 30 km/h while Gagan averaged 15 km/h.

How many fim€s did Tahir pass Gagan during the race ?

r ) 2

2 ) 3

3 ) 4

4 ) 5

\ \ A \

sl. \o6lffi i51ttg 4.Ssqct I

trfr * qns qs dc+ + ftrd+1sr z ffi ln ?il !tr iT i I

, frffiTt*ve &rwqeqqrt ?

1) 412 d.

2) 2,1185 d.

3) 4,S50 t.

4) g,7u:a.

The One Rupee coin weighs 4.85 g.

Haji has a 2 kg bag of One Rupee coins. :

What is the value of this bag of coins ?

1) t 412

2) < 2,485

3) t a,s50

4) < 9,700
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b2. *Ffr ffi i 3rq} cfu q-ii fr t !+s +1 srs{+rf,rr {iqr fr 8-q ftq I sqt q :ii if n A-6 6 * is a d=it
fi utmrgn grRrst-qFrd t
ftit fi +r qrdc drqr wr i ffi *Tfr srd s{qi qan {q q1 e {*-fr t ?

1 ) 1
2 ) 4
3 ) 5
4 ) 6

Mrs Ali gave a different number of apples to each of her five children. Any three of her children together
received more apples than the remaining two children.

What is the least number of apples that Mrs Ali could have given to one of her children ?
1)  1
2 ) 4
3 ) 5
4 ) 6

s{d (s3-s6) : ffifud srs-dq ei cGq aen ftR rtq srd * sfi qrFdq t
Questions (53 - 56) : Read the following passage and answer the questions that follow :

*$Tdpfqrtad.q,rEqltsEl-sriitsiETet tffigrrqpfEnrqqei{sqkTwfif(q-mriftsqhqqs{rqq
itfrdifiqz t tqlrrrekT:dlqqdrefrq.r q+esa€rdrieitfue+*suT3rc€fi3ieidFm.drt$At iqqfut$s
outi t frq qeo qq-6 Etfr i. 3dfl; g.lrfif q+e fiq *cr t r ffi qi c-dpf + rr{-d fi rrurq, 3q+' 3ilqdc (va fr-Stra) t
E.qqH 0nq;1 fru6u 6 w {m-fr i | *A A r{ drfusT fr frFrq q<nfr er q+e Esriqr rrqr E r
All substances, whether they are solids, liquids or gaset are made up of particles. The density of a substance
depends upon how close tosether its particles are. Solid substances usually have high densities because their
paiticles aie very close togeiher while gases, which have large spaces between thelr particles, have very lqw
hensities. Density can be c"alculated by trlviding the mass (in grans) by its volume (in cubic centimetres). The

table below shows the densities of different substances.

tF(tel/Substance edef€en/State q{€ (rrc/t*3 ) /oensity (g/cm3)

E{T/Air l|s/Gas 0.0012

l6l$qH/.nelrum
'ts/cut 0.00016

f t lcn/LorK drs isoha 0.24

teloit {e/Liquid 0.92

qtfr/Water !F/Liquid 1

Qt9 r.r/>teel drq/soha 7.8

{tr{II&ead dRI/Solid 11.3

9RT/Mercury trd/Liquid T3.6

I||||ltililtlil]illillI|||l

qrcl fr {d {€d i{ €-+f t frs*l q{.q vrfr + q+e * qrr* qr s€t q-c ei r qi*;6t Es-sT qqi i tmr i, witfu eq+l
; .  e  .q;t..[qnT6q+eeaqdrdrf lgwrofifioerqasffis+lcctisgcrqfrr-sii'i*qrtqqaqrfriiWqrdi I

{iq-dtqcq-dqvrfrtt{{mAt,qdifua#dffiqTg+g{.siti-dTqiaai rffifrqsreo,ft-+cTr,fl-'r(i-cr)
*qn + 3{H{uT € q-i-r €fdr e ffi eTF.ffii{rd: 6c{T trtT ffi i 3n{ qE qgd req, €T or i i
qftun-q{q5cv6rs6rgrftrqqr-{cq+ 3flTd-{ffgoa'rfrqg**drcrt r erT: {€tFT *saq+.qqgd6.c*ot t.re
3fts6 qas rs cr$ * q+a i sc Eii & onur qo-e tmr i r
Objects wiil fioat in water if they have a density that is equal to, or lower thary the density of water. A piece of

cork floats in water because cork has a lowei density than water. A steel nail, which has a density about

8 times that of water, sinks.

Q30 -24-
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steel ships are able to float because they are not solid pieces of metal like a nail. A ship's hull is actually a steel

she[ filled mostlv with air which is very light. As u r"rult, the total mass of the ship is very low compared to iis

volume so it has a smaller average density. This average density is lower than that of water and so the ship floats'

qqH-d-il-€EF+)s-6rqtqt.$qrdr i,d-dEEqr$*d-..tt-q*"i rs-6rqsqlfrfrqF'-€flq{itslisqfrt

dprril-{q{fifi6i-drt i#=:-=-"*a-"gf:=e i-*!Ffr.'{Ehlt'FS+*f er*a;*-:;€3ddrr-

-ottama tqrtqrfrqlq+e Sdr$qr*i ertT'TddrR t

{i<{Tii.riRTc{iif,errcn|6rq*a (fr-q'ET r+rrr) qiqr{qrfiisgsqrdE'r{*d4-tfiafrfirqvon}qrl1ils-6lq

c{ g{ftn-d Fd{ d"F S rlr eKI qI qq-aT ? i

As cargo is added to a ship, it sinks lower down into the water. ships also float at different levels depending on

the temperature of the water and whether it is fresh water or seaiater. This is because the densities of warm

water and cold water are different. The densitv of salt water is also different to the density of freshwater'

The plimsoll line shown below is a marking that can be found on the hulls of ships to indicate the safe level to

which the ship can be loaded in different tvpes of water'

sg. ffifud I i *1r-qr etrq {s A ?

r) srt q* 6r q{€ dli q* + q+e t o.c *dr i t

z1 rrd wfi +r q+e d3 c|* + q+e t erRIfi *dr t t

3) qdre qG fi srqffi 'rfi it ugq fr e{Rr+ *A +dr t t

4) qR 4t$ qsre dG qlt it ds fr-qr rrqr d fr qe vgq it qrl qt 3;c{ 3trn I

\ trhich of the following statements is true ?

1) Salt water is less dense than fresh water'

2) Warm water is denser than cool water'

aj A snip will sit lower in the water in winter than in summer'

+lesnipthat is loadedinfreshwaterwi l l r isewhenitentersEmocean'

T ffropicat Saltwat€r)

WNA No*lr Atlantrlc in winter)
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54. 1 fra{ 6dr 6.r fq.qr{ qqr *rn ?

1) 1.2 rrFr
2\ 0.12-IrC
3) 0.0012 InrT
4) 0.072 fr.urc

What is the mass of 1 litre of air ?

7) 1..29

2) 0.12 g

3) 0.0012 g

a) 0.012 kg

5s. Elct ft* s-drq * qt (fts-dr,TI'r) it BE *dr t ft ssrf cFfi rn+ e,rdr t * qa wt q{ qrdr t ?
1) Rffr {*ttfiT {qcn 3iTEs+ itw err+m tr6qrdTt I
2) Ritfu w*l tqqn qe qrf,r t 3fr{ Fqt it qT e+r+c+ {6 nilnrr t I
3) qfrfu EFsr trqqn n) T& T6-dr t ft Fs+ Qt qr erwtr{ Tc qrdT t I
4) wtfu {sol {qcn n} qo qrct t rqfu Fq+ qe e.t q?rffT +fi rccr t r

Why does a ship sink when a large enough hole has been tom in its hull and water enters the ship ?
1) Its mass and the volume of its hull have increased.

2) Its mass has decreased and the volume of its hull has increased.
3) Its mass remains the same but the volume of its hull has decreased.

_ 
4) Its mass has increased while the volume of its hull remains the same.

Frqq+eqrdrqY{iitqrffivr*-rti tFcEff€qrerq$c{+ret *t eTFr*qr€qr&redeTd+dqrtt ttrqE{rtq
.rqfudq dq iit+rt r y&+tihrif a ftrq rq t r gm ftomrvnftrq re <{rtq'rqi I
Liquids that have different densities form layers. The liquid with the lowest density floats at the top and the
densest liquid sinks to the bottom. The diagram below shows 3 containers. Each container holds two different
liquids. In total, 4 different liquids are shown.
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56. srtq fuaq-rmi fr
1) HEBqT$r€vs$3TRr6t t

2) {qD$TEFt*twqd*.qt t

3) {.[ crFTs;r64re ntsat 1

4) {E B.FT EFt(cf A npn C fft t eftrs t I

This diagram proves that

1) Liquid B has the highest density.

2) Uquid D has the lowest density.

3) Uquid C has a higher density than B.

a) Uquid B is more dense than either liquid A or liquid C.

eFr (52{o): ffifuT ergd,q d qfrs den Rq rrq sFfr * Efl {Fqq t
Questions (57 - 60) : Read the following passage and answer the questions that follow:

qR3ilcfuSffi-+sverurqiffifrstffitfrsncaqil {'ftr?Trfufitgmrq+qqnsTts3i-ffildttlitv+
3rffi1 + tftr€d grftieml ea ercr t gft 5+*l yftr sH Bqmlsr * frFr{ qffiz-Eidt it r*Rf, A+ qrd frgd-qrl
ficrdrdfi.iiFse.e*ftqftqTqrmt r sTFr*iyrtfu{d Fftriq-"1frr'oifr+{6tdrifro.rdq ftftT{IFs}
ftryq t qcr *ar t r {q 4h * sct niqr qr cT{$ic ii ildt i ftffi( frR €tE qd t | 3id fi\fus{ Ffrrn?ro dlr*fi
Cq'{rfro) { {frR +dr i Fq+ +it Eh rR irR "rfi t*.er *o i r

If you open up nearly any electronic device, you will see many small bead-like components with coloured

stripes on them. These components are called resistors and they are used to control the amount of electrical

current that flows through different circuit sections in the device. Most resistors have a central core made of

a mixture of carbon and ceramic. A wire made of a material such as copper or nichrome is then wrapped

around this core. Finally, the resistor is coated in enamel, leaving a wire poking out from either end of the resistor.

\
Connection wires

io cars at ends

Inside View

Out6r coati*g of enamel
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qffiz + {n-qBii * cr*ac t y-drRr Ai qt!fi eil{r + l-dr6 + edrsR *l tRR{ (yfr't?m) fre cr*r rs srT q;ccr t sA
tftrdq (efrtq) q.5rwmt r yftrtq61 enrq 1 Cl ) fr qrwqrart r
w vftrtq {d,r fr{r qrcr i irq \ket ffier*; t y-qrRd E=i} sld aRr ergq1kr: mq d qrfi t r erd: ftq yfriq qR
vfrftrs eTRrs errrr*lgs$tl-qrRofrtttt r
qEiAvmersg**aetfttrn€retirssqHqreqrfr i{*dRif *Aanff eTqqn sTRrsyftteTatmi rlit8cn
fig6+rit!:{ d*nnqiqti***$*odH fi errd{T*-dr+fi eTrf {6 t freftt?idTfrfiriqr*,rS?rr
qcqvrdd-ort r
61ft eqr*uare **qdvfttqqi meqrhd*'rmt tiIRrEr ef,dtr{prorcfuc+rwr*'n, {q{t3-d-fi sflqt*tft-gd
rqedv*-ort rqst{rqtdtc+ov*ttfrenfiyftrn?r-*-dr{q* q-ds{pro,a* Qr+frq +r6qft6g ,
The degree to which a resistor reduces the size of the current flowing through its branch of the circuit is called
its resistance. The resistance value is measured in ohms (written as e).

\A/hen the resistance is increased, the current that flows through the resistor is proportionally decreased. So a
resistor that has a low value of resistance allows a large amount of current to flow through it.
Where two resistors are made of the same material, a long wire will have a higher resistance than a short wire
of the same diameter. A very long wire will need to be wrapped around the core many more times than a short
wire. This means that the resistance is also directly proportional to the number of coils.

The cross-sectional area of the wire also affects the resistance. The larger the cross-section of the wire, the more
easily an electric current can glow through it. In other wordg the resistance of the wire is inversely proportional
to the area of its cross-section.

qsvftfterswri*frqs{*Ei.+q.rdr+kqr 1ffiqmqlqr{*}qqrdRetarrqrt r*tqrqrq 1ilfri*ten
qi qs cr6 eta.rqr t ft en fi qd c{d i *t{ fi {ft Eqr{ a* 'r$ B r
Nichrome wire with a 1 mm diameter is coiled around a 5 cm long carbon core to form a resistor. The diameter
of the core is 1 cm and the wire is coiled in such a way that the entire length of the core is covered with only one
layer of wire.

s7. qft{r{EtqdR.Flsfrftq 2 yftEftatt, n}sfutqrfr *{dQrrqirRslgffiyfrtqerr{rrfrT{r*rn ?
1) 0.3 Q

2 ) 3 Q

3 )  3 0 Q

4) 300 Q

If the resistance of the nichrome wire is 2 per metre, the wire wrapped around the core will have a total
resistance that is closest to

1) 0.3 Q
2 ) 3 c t
3) 30 cl
4) 3ooQ
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q.rdc 6tqn vfrtq+ q.r v*qq'r* e-{rq'rqi r v&o vfrnqs + efu *1 din fi an t etarrcrt, Afrq dRtff ciqd
sih sf,sr qdy{er o.rc ei-f,'r{f,f,'r i iqr ft ftE{fufud drfusT if qsrlqT rmr g 1
Four resistors are made using carbon cores. The core of each resistor has been wrapped with copper wire, but
the wires have differing lengths and cross-sections as shown in the table below.

rftiel-*/n*m"t ffi ffil7lersth (cd
or{FE qrc ** (tr")

Cross-sectiornl Area {rrrn"}

A 10

B 20 4

C 30 J

D 40

58. vfttmtfrs SB fr qqn sfrtq t ?
1)  A* {D

2) B*rc
3) A S{B
4) B*rD

Whi& pair of resistors has the same resistance ?

1) AandD

2) BandC

3) AandB

4) BandD

_qqtfr{d (sfrM)*1'fs-drfrqtsrqrcrtesftgd qrrs{Sqs*qrcqs**-rrdrRd+frt tqqiqqmiil*g
qrt € tr eF S {q-q -.0 +"{ U"fi fr eiz qfr t t
When reisbrrs are connected in series, the electrical current passes through them one after another. When

they are aurnectd in parallel, the current splits to travel through them at the same time.

KEY

Dkoction ol
--+- cun€nlflgrv

R€sislof

Hel
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sg. ffifud fr t qiq-H fr? €eft fr]q*i * q+-Rlt * wq qr,rid{ v$ia qmr i ?

Which one of the diagrams below- shows ,,\LL of the resistors in parallel with each other?

56 eftirr6 rq qr FFFT Hq dwEqr{ 3iB'd q€ + fo +gn d) it t r ffi cwr+, s++T sfrrfrE-tr 3-{* oicq

t'hq{fts}+6cigFRAfr,!+s{4q+ri,gfiziss+y,*atwri-frtiqrfrfrAA.rr{TrftffiiqqsTiqT{q'? i

Some resistors are too small to har,'e their value printed on them numerically. Instead, they have their resi;tar:'ce

value coded as a series of coloured bands paintecl arotind their ends. Each colour stands for a different rnrr::'ts

or multiplier as shown in the table beio'tr-.

Q30
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Band B Value

q{& eqn I
Band A ValueBand Colour
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e<rwr*frq W fid 3*{ *A nT n frkdq{ftdt'qiT !fttem Hr Arn - (10 + 6) x 10 000 = 160 000 O

ffiFeRRr€6rffi,R *rV€ai'rfiq-{foiiqrAyftier**lqstiqqgftfttrstqccntfrc*rvfrn'tffi$rf
vFdi?rd n fu{rEr ,
For example, a resistor marked with brown, blue and yellow bands would have a value of

(10 + 5) x 10 Offi:160 000 Q .

An electrician needs to replace a resistor that is marked with violet, green and gold bands with a new resistor

that has twice the resistance value of the old one.

60. Fs {i<f { cq sftiers fi q-&ii or t'r wr frn ?
1) cFlElI, mdr 3fr{giE€I
2) ll:r, en *t"5.rsr
3) {raft, ff'ffi $r et
4) rKr, fi-dr 3fr{6rf,r

In order, what are the colours of the bands for the new resistor ? '

1) blaclg yellow and gold

2) brown, green and black

3) orange, r.iolet and green

4) brorvn, r'ellou' and black
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i trl
i a
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q-d q-rc * frq qrrd/spncE FoR RouGH woRK
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